
INSTRUCTION MANUAL

Thank you very much
for purchasing our Outdoor Chair Set

Outdoor Chair Set



Before use
Please ensure you have received all four packages. If any part is missing, contact 
our customer service 

Exercise caution when assembling the products, as some parts may have sharp 
edges. 

Before fully assembling the product, keep all components and accessories away 
from children and pets.

For your safety, avoid using this item as a stepladder. 

Before use, ensure all bolts, screws, and knobs are securely fastened, checking 
every 90 days.

Do not use or store near open �ammable or combustible chemicals.

If any parts are missing, broken, damaged, or worn, refrain from using the product 
until repairs are made or factory replacement parts are installed.

Before assembling the product, carefully compare each part with the parts list. If 
you discover any missing or damaged parts, do not proceed with assembly; 
instead, contact us immediately for assistance. 

We value every customer's user experience, so please feel free to reach out with 
any suggestions or feedback, and we will promptly provide an ef�cient solution. 

Avoid setting up your canopy on steep inclines. Always ensure the frame is staked 
or properly weighted down to maintain stability at all times.

If your appliance fails within 1 year of purchase due to non-human damage, our 
team will replace it free of charge. For the quickest resolution, please send us 
photos of the damaged parts along with the make and model number of your 
product.

During use 

After use 

CAUTION

Warranty Coverage Requirements

1



PARTS

2

B1
B4

B3
B2

x2

x2

x4

x2

x2

x1

x1

x2

x1

x1

F1

F2

G1

G2

G

H

I

J

LEFT CHAIR RIGHT CHAIR



3

HARDWARE

M6*70
BOLT SCREW SCREW BOLT BOLT

16PCS

M6*60

4PCS

M6.3*80

12PCS

M6*60

16PCS

M6*45

12PCS

M6*40
SCREW NUT

8PCS 32PCS 1PC

M6

1PC

6

ALLEN WRENCHWRENCH

7 8 9

1 2 3 4 5



4

INSTRUCTIONS

Step 1

Step 2

4

4

4

4

7

7

7

7

B1

C 8

9

*Repeat the same for the other chair.

4

4

7

7

B2

9

87 4

47

C

*Repeat the same for the other chair.

B1 1 PC

1 PC

2 PCS

C

4

2 PCS7

B2 1 PC

1 PC

2 PCS

C

4

2 PCS7



5

INSTRUCTIONS

Step 3

Step 4

3

3

9

D

E

6 6

6 6

6

9

6

3

3

3

3

B4B3

9

*Repeat the same for the other chair.

*Repeat the same for the other chair.

B2 1 PC

1 PC

4 PCS

D

6

B3 1 PC

B4 1 PC

1 PCE

4 PCS3



INSTRUCTIONS

Step 5

Step 6

6

7

4

5

4
4

5
4

A

9

4

4

8
4

9

7

*Repeat the same for the other chair.

8

1 PC

4 PCS

2 PCS

4

A

5

4 PCS7



INSTRUCTIONS

Step 7

Step 8

7

99
3

*Repeat the same for the other chair.

H

2

3

2

3

I
5

5
5

5 5
58

9

1 PC

2 PCS

2 PCS

2

H

3

1 PC

4 PCS5

I



8

INSTRUCTIONS

Step 9

5

J

5

9

5
5

5
5

1 PC

4 PCS5

J






